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4.1 - 4.7 Quiz Review Date : = Period :

Complete each question and be sure to show all work!

1. AABC has m«C =42° and mzA = 80°. Find m«B and classify AABC by its angle measures.
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2. DAABC has mzA = 44° and m«B = 46°. Find m«C and classify AABC by its angle measures.
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A triangle has side lengths of 4 inches, 6 inches, and 8 inches. Classify the triangle by its side

lengths.
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4. One acute angle of a right triangle measures 37°. Find the measure of the other acute angle.
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% 5. Using the diagram below, please find m/2 and m/Z3.

mel+¥3 710

8 N mel ’qTOJ
- :x * e
- ‘mLa = ga“l\mhm\ angjles

Ey' me3 83435 =1¥0
me3+1§ 180

X+58+34 = 160 -
X+q7:180 2 %°¢3 \-‘“‘5’01 ]

6. Using the diagrams below, please solve for x.
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7. In AABC, mZA=(4x-3)°; mZB=(3x+15)°; m£C=(x+8)°. Please find the measure of each angle and
classify AABC by its angles. (Hint: Draw a picture. It may help.)
a) Please solve for x.

IAFIE+UX-2+ X148 =180
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b) Please find the measure of each angle.
meA = 4 (20)-3 = 17°
med = 3(20)415= 15° ,
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¢) Please classify AABC by its angles.
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8. Using the diagrams below, please solve for x.
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9. Using the diagram below, please find the measure of the exterior angle.
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10. Using the diagram below, please find the value of x.
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11. Using the diagram on the right, please find the iength of the base.
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12. a) Given the diagram shown below, what can you put in the diagram to represent ZA?
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b) What theorem justifies your conclusion from part a?

Base Angles Theorem

c) Please setup an equation and solve for x.

AX+3X-b +3 % -b =180
L% -14:=1%0
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d) What theorem justifies the equation that you setup in part c?

The fviangie sum +heorem A (x5 (3x-6)° B

e) Please find the measures of the angles in AABC.

meA= 3(24)-b = 66
meBz 324)-bz 66°

meCe 2(24) = U8°
f) Please classify the triangle by its angles.
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13. ALMN is isosceles, LM = LN ,LM=3x-2,LN=2x+1, and MN = 5x — 2. Please find the value

of x. (HINT: You may want to draw a picture!)
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14. Using the diagram below, please find the length of WX,
Y \%0-00-b0 = 60°
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15. AFGH is equilateral with FG = x + 5, GH = 3x — 9, and FH = 2x — 2. Find the value of x. (HINT: You
may want to draw a picture!)
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16. Given that AB = BC, find the value of x and classify AABC by its angles and its sides.
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17. Given the diagram below, please find the value of x.

fince e A equilaktrdl, S cquuangular, so al angleg
have o reasure of (bx-RY

X8 +bX 1K1K = \kO

\Qx-64:=150
\9x= 234

)

18. One angle of an equilateral triangle measures (2x — 10)°. (HINT: You may want to draw a picture)
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a) What is the value of x?
AxX-\0 < 60 AX-10tAax-10 +aX-10=\80
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b) Explain how you were able to solve. ('M'\U)o
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A triangle has the given vertices. Graph the triangle and classify it by its side lengths. Determine if
the triangle is a right triangle.
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22. J(0, 0), K(6, 0), L(3, ~27) HE
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ANSWER KEY :

m«B = 58°, acute triangle

m«C = 90°, right triangle

Scalene triangle

53

mZ2=83°, ms3=62°, mei=47°

a) 12 b) 25

a) 20 b) mZA=77°; m£B=75°; m£C=28"° c) acute
a)71 b) 106.5

149°
.x=14
26 inches

. a)(3x—6)° b) Base Angles Theorem c) x=24 d) Triangle Sum Theorem
. x=3

WX = 8 units

x=7

x = 3, equilateral/equiangular triangle

. X= 1%{, ,bCJ"

. a) @8, b) Corollary to the Base Angles Theorem
. Isosceles, right triangle

. Scalene, not a right triangle

. Isosceles, not a right triangle

. Equilateral, not a right triangle
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e) 66°,66°,48° f) Acute



